ACCOUNTANCY & AUDITING, PAPER-I

Q.6

Q.1

Explain the correct tax treatmenl in ench of the following situations:

. Mr. Hameza made a total contribution of R, 150,000 a5 & donation o the opproved
institution mentioned in the 13" sehidule. His total mcome from o business during e s
year 2023 is Rs. 1,800,000, W = e

2. Nine years aga, Masood inherited a rure sculpture of Buddha which had » fiic market
value of Rs. 200,000 on the date of inheritince, [ August 2022, the sculpiure was sold by
B ab Ko 00,000,

3 In June 2022, tmon entered into g agre e
Ibeshim, whe pald an advanee of Rs, SO0, Acen
required to pay the balanee by August 31, 2002
amount, he taminated the sule agreement. Immy
iceondance with the terms of the apreement,

4. In September 2022, Adnan sold his pessomal car, Toyols Corolle, lo one of his
cousins at the price of Rs. 500,000 whercas the fair market value of the ear wis Rs
20,00,000, The car was purchased by himn sis veirs agn ot of cost of Rs. 1 0,00,000,

5, Imran was working as a Chief Financial Offieer in Dawood Pakistan (1) Limired,
which is 0 wholly ewned subsidiory of Dawood AG, Germany. Aeen
policy, Imran wos tent on secondmint 1o Cermany on January 1, 2022, for o period of five
years. During ths period, half of his alary will be eredited ton his hank wecount in Pakistan,
whereas the remaining portion will be received by him in Germany.

o, Magsood provided eansullaney services to g lisied company. In consideration for his
services, he received o nel amount of Ra, 45,006 sfler tax deduction of s, 5,000,

for the sale of the resideatiol plot 1o
rling 1o the sgreement, Thrahim was
However, instead of paying the balance
forfeited the advance of Rs. 500,000 in

SECTION - 111 (BUSINESS STUDIES AND FINANCE)

Fitch Indusines is in the process ol choosing the better of two equal-rigk, mutually exclusive
capital expenditure profects, M and N, The relevant cash flows for eseh project are shown in
the following tble, The firm's cost of eapital is 9%,

’ | Projesi M | Project N
Initinl investmen-Cash Outilow =540, 06100 -S40, 0001
Year () Cash inflows Cash inflows
| 514,060 323,000
2 14,000 12,0460

3 14,000 10,000
4 | 14,060 0,000

I Caleulite each project’s pavhack period,
it Calewlme the net present value (KPY) for each project.
Hi. Calleulale the intemol rate of retum (RR for each project,
v, Summorize the preferences dictated by cacl measure you calculated, wvd
indicate which project vou wanld recommend. Explain why?
How hove plobalization and  imformation
emreprencurs? How does an agng peapulat

Deseribe curvent demographic trends that s,
busingsses.

lechnolopy created  pew opportunities  lor
ion create oppertunitics for entreprencis?
BB new moods and services for entreprencurinl
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